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Ab e E Al A

SA - BB SRI(SIH) - NISAY - BeS Ol ar ot ol & o HimE==]
OtM WSt 29,380,858 26,017,346 3,363,512
= 80,447 81,447 21,000
s 3,361,000 3,361,000 0
| 106,000 106,000 0
CH 5,900,000 5,900,000 0
= 5,642,044 4,723,457 918,637
= 14,291,317 11,845,442 2,445,875
ot Ze|MIH = 1,124,523 531,903 592,620
= 4,384 4,384 0
< 47,400 47,863 A463
o 1,072,739 479,656 593,083
Mtog&s Kd 1,029,523 531,903 497,620
= 4,384 4,384 0
& 47,400 47,863 A463
o 977,739 479,656 498,083
Mol Y& s K= 847,255 356,172 491,083
= 1,200 1,200 0
o 846,055 354,972 491,083
201 Let2HH| 141,680 131,680 10,000
02 332l 95,000 85,000 10,000
OJ|A2SEE RS+
28 20,000,0003 14 20,000 10,000 10,000
302 Ol Mol 2 &= 321,933 9,600 312,333
02 2RIOITHHE S A& SEaS 321,933 9,600 312,333
O3tel HEE StM(MY) X2z
312,333,000& * 14! 312,333 0 312,333
308 AHXISHMSO0IE 168,750 168,750
07 X EHZ2tRE S 168,750 168,750
©2023F AHEQIEDIS HIAASIEX] EXIAL
d FEH3 168,750,000 14 168,750 0 168,750
S50| =471 EES KNJAAY 10,000 3,463 6,537
= 3,000 3,463 A463
i 7,000 0 7,000
201 LBtz | 10,000 3,463 6,537
= 3,000 3,463 A463
= 7,000 0 7,000
01 At 22| 10,000 3,463 6,537
O2s0| F47ZEE NAAL
Z & 10,000,000& %14 10,000 3,463 6,537
= 3,000 3,463 A463
i 7,000 0 7,000
SCOHAHoH & AFAHOH Ol 95,000 0 95,000
ANSE ot A2 95,000 0 95,000
101 @l 4| 6,000 0 6,000
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A QEDED
Hu: olF mRIHH 2E
ohol: SCHHGH & AFITHOH Ol (chel:=gl)
SN - B BR(EH) - NRA - BES 04l o oy o HimE=T
VBIEEEF=I=FS 6,000 0 6,000
OJIZHN 2RI SaALAX|
50,00021+302 %43 6,000 0 6,000
201 B2l 89,000 89,000
01 AL 2H2lH| 85,000 85,000
OMAITEAH 2|t
80,000, 0002 14! 80,000 0 80,000
ONATHHO L ELS M
1,250,000 %43] 5,000 0 5,000
2 T2 4,000 4,000
ORPE S4ALATY|
50,0002 +502*13] 2,500 0 2,500
OFAAYE SHAALTY|
50,00021+302%18] 1,500 0 1,500
TLHolg ZRIHH 2 7,402,775 7,642,775 £240,000
2 2,898,000 2,898,000 0
= 1,526,745 607,345 919,400
2 2,978,030 4,137,430 A 1,159,400
SHES 22l 1,519,135 9,135 570,000
= 77,745 27,745 50,000
2 1,441,390 91,390 520,000
R 1,351,485 831,485 520,000
302 OIFUTHHS A S 52,665 3,665 20,000
R EE e 52,665 30,665 20,000
OASAIE T UK
2% 30,000,002 14! 30,000 10,000 20,000
401 A& EI ST 1,000,000 500,000 500,000
01 Al&H] 1,000,000 500,000 500,000
OHLTHLOITHAILS HXI(2IToHEH)
500,000, 0002 14! 500,000 0 500,000
EEESETEES) 68,000 18,000 50,000
= 59,000 9,000 50,000
2 9,000 9,000 0
201 LBI2Y Y| 7,500 0 7,500
= 7,500 0 7,500
01 AL 22l 7,500 0 7,500
OB} 2IAS2Y 222 P
7,500,00024%14! 7,500 0 7,500
= 7,500 0 7,500
206 W2H| 20,000 0 20,000
= 20,000 0 20,000
01 | 20,000 0 20,000
& &N 7o 20,000, 00021141 20,000 0 20,000
= 20,000 0 20,000
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2 EED
S THHE 2l A 2=
&Rl gigs 22 EEREED)
S - FH - SA(S) - AIRA - BES Ol &k N & Hlws2
401 AlEHIZL 200 40,500 18,000 22,500
< 31,500 9,000 22,500
i 9,000 9,000 0
01 Al&HI 40,500 18,000 22,500
OSIIMZAIE 29Xt 4X
22,500,000 * 14 22,500 0 22,500
= 22,500 0 22,500
MHALIEAISE B 5,616,000 6,426,000 810,000
s 2,898,000 2,898,000 0
[ 1,449,000 579,600 869,400
= 1,269,000 2,948,400 21,679,400
KHoH Ol 2 At 80,000 30,000 50,000
401 AlZHIL 2 CHY| 80,000 30,000 50,000
01 Al&H| 80,000 30,000 50,000
Ot S MEAFHIAIY EILH ZA
L IIEHE 29 50,000,000 14! 50,000 0 50,000
LA 7 SrolMEH SEEUIAY 2,580,000 3,440,000 860,000
s 1,720,000 1,720,000 0
& 860,000 344,000 516,000
i 0 1,376,000 21,376,000
401 AIZHIL 2 CHY] 2,580,000 3,440,000 860,000
Fas 1,720,000 1,720,000 0
(= 860,000 344,000 516,000
= 0 1,376,000 21,376,000
01 Al&HI 2,580,000 3,440,000 860,000
oA 7 Srolded SE
& 2,580,000,0002 %100 & 2,580,000 3,440,000 £A\860,000
ray 1,720,000 1,720,000 0
< 860,000 344,000 516,000
= 0 1,376,000 1,376,000
AATHOHLIE S X HUIAIS (2 X) 1,148,000 1,148,000 0
s 574,000 574,000 0
< 287,000 114,800 172,200
= 287,000 459,200 A172,200
401 AIEHIZ L0 1,148,000 1,148,000 0
s 574,000 574,000 0
< 287,000 114,800 172,200
i 287,000 459,200 A172,200
01 AlEHI 1,148,000 1,148,000 0
OSXIXI7 KATHHRAE NS XIF Hul
Z& 1,148,000,0002 * 14 1,148,000 1,148,000 0
= 574,000 574,000 0
= 287,000 114,800 172,200
= 287,000 459,200 A172,200
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SN

X‘I iH :

HOl
D MERIEA IA 7“HI

cHe|

S - FH - SA(S) - AIRA - BES Odl &k24 N3 A Hlws2
KAl ENE KR HEIAL(83) 708,000 708,000 0
E 354,000 354,000 0
< 177,000 70,800 106,200
2 177,000 263,200 106,200
401 AIEHIL SO 708,000 708,000 0
fl 354,000 354,000 0
= 177,000 70,800 06,200
= 177,000 283,200 A 106,200
01 Al&H| 708,000 708,000 0
2517 NAHSIBHLK R Fb|
2% 708,000,0002%14] 708,000 708,000 0
fl 354,000 354,000 0
& 177,000 70,800 106,200
- 177,000 283,200 106,200
oA TSI BN AR FEIAI (HA) 500,000 500,000 0
Fas 250,000 250,000 0
= 125,000 50,000 75,000
- 125,000 200,000 AT5,000
401 Al B L2 T 500,000 500,000 0
B 250,000 250,000 0
= 125,000 50,000 75,000
2 125,000 200,000 AT5,000
01 AlEHI 500,000 500,000 0
OFTXT MeATHHSIBMLT R HH|
2% 500,000,0002*14] 500,000 500,000 0
B 250,000 250,000 0
= 125,000 50,000 75,000
i 125,000 200,000 A75,000
gzEdsl I 2 29 13,302,000 11,202,000 2,010,000
ol 5,900,000 5,900,000 0
< 3,400,000 3,400,000 0
o 4,002,000 1,992,000 2,010,000
a2 ael Zast 13,302,000 11,202,000 2,010,000
CH 5,900,000 5,900,000 0
= 3,400,000 3,400,000 0
= 4,002,000 1,992,000 2,010,000
LAINSe 435t 2,502,000 492,000 2,010,000
201 Yk ely| 199,000 189,000 10,000
T 99,000 89,000 10,000
OYYTRIBY STARIE K
10,000,000& *14! 10,000 0 10,000
301 YEHEE 2,100,000 100,000 2,000,000
14 JIEH2 AL 2,100,000 100,000 2,000,000
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PA A NS
N gzadst 1d € 2
ol g Ay 243 EER-E))
A - ZH - C2{(31H) - HRAY - BES Ofl &by DIRES I Hlus
ORIIXNESBA 6H 28 Hed=3
23 2,100,000,0002 141 2,100,000 100,000 2,000,000
wseF Ho 1,650,366 1,199,496 450,870
= 61,998 62,998 1,000
Il 106,000 106,000 0
= 108,160 108,460 A300
= 1,874,208 922,038 452,170
uSAE=E 29 888,266 542,3% 345,870
= 14,598 14,598 0
= 1,260 1,260 0
= 872,408 526,538 345,870
wSHHAIEE K2 725,260 393,150 332,110
201 Leh=ay| 130,100 101,900 28,200
2 s=23l 102,200 74,000 28,200
Oustss 3323
23 6,850,0002+ 122 82,200 54,000 28,200
401 AIZHIYL SOH 595,160 291,250 303,910
01 AlZHI 595,160 291,250 303,910
onsdss il
28 20,000,0002 %1570 & 300,000 100,000 200,000
OLAZTEHAEDIE I X
7,500,000 *29H 15,000 0 15,000
OLAETHHAUHDIE 2Lt X
330,000& %274 8,910 0 8,910
OYLLSEUAUHDIE =Y LR
50,000,0002 * 14 50,000 0 50,000
OLAZHAUEDIE FA2e
5,000,000 *62! 30,000 0 30,000
nSy 2| 120,004 106,244 13,760
201 Zet2dH| 30,400 25,400 5,000
01 AtR2reltl 17,600 12,600 5,000
OYLLTEUAEDIE 23|
ZF 1,250,000~ 12 15,000 10,000 5,000
307 212t01 & 27,084 18,324 8,760
02 2B AR 2 X 27,084 18,324 8,760
OLARH2HII3| K&
B8 27,084,0003 %14 27,084 18,324 8,760
Sguss+¢ X 499,400 394,400 105,000
= 47,400 48,400 21,000
Jl 106,000 106,000 0
= 6,900 7,200 A300
[ 339,100 232,800 106,300
WSAN SEUS+H 2N 0 344,400 A344,400
= 0 24,400 A24,400
) 0 106,000 106,000
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A QIEDED
Hu: DSEY N
o9 SEDSAE CEERED
SN - BE . S2A(3) - KIRA - BAS 04l o & o HimE=T]
2 0 214,000 214,000
307 BI2FOI 0 344,400 344,400
2 0 24,400 A28, 400
p] 0 106,000 106,000
2 0 214,000 £214,000
05 BIRFRIEr2 0 344,400 344,400
OULSAX SENS4+H SHNA(ZES)
2% 0 0 24,400 24,400
2 0 24,400 £24,400
OLSAR SENS4AS SYXA(IS)
2% 02 0 320,000 £320,000
p] 0 106,000 106,000
2 214,000 £214,000
DEUT SEWELT K2 46,000 50,000 4,000
2 23,000 24,000 A1,000
= 6,900 7,200 A300
2 16,100 18,800 £2,700
406 KtarE St 46,000 50,000 4,000
2 23,000 24,000 A1,000
= 6,900 7,200 2300
2 16,100 18,800 A2,700
01 ‘AL SZH S| 46,000 50,000 24,000
OSERSHH 7Y
A% 46,000,002 14! 46,000 50,000 4,000
2 23,000 24,000 A1,000
= 6,900 7,200 2300
2 16,100 18,800 £2,700
DEAR SEUSLE 2YNA(ZER) 320,000 0 320,000
p] 106,000 0 106,000
2 214,000 0 214,000
307 BI2FOI 30,000 0 320,000
p] 106,000 0 106,000
2 214,000 0 214,000
EEEE] 320,000 0 320,000
ORSAK SEIS4S 2YXA(II)
320,000, 00024 +14] 320,000 0 320,000
p] 106,000 0 106,000
2 214,000 0 214,000
DEAX SEWELT It SINA(IES) 24,400 0 24,400
2 24,400 0 24,400
307 BI2FOI 24,400 0 24,400
2 24,400 0 24,400
05 QI2t9IEE 24,400 0 24,400
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SN IS
I usSsF pd
tel: SgnsEst & (St M)
2 - B - SRA(Z) - HREAEY - BES Off ol JN 3 XN Husz
OusSAAt SEuss+H 2ENA(RER)
24,400,000 *14] 24,400 0 24,400
= 24,400 0 24,400
WEAL SEWSHE Xret 7T (KHA) 4,000 0 4,000
405 THAHF SHI 4,000 0 4,000
01 LSS F S 4,000 0 4,000
QuUSAL SEUS+H g 7 NA(R
=2) 4,000,000 1CH 4,000 0 4,000
WEAL SEuWSHE =IOt 2SR (XHA) 105,000 0 105,000
307 @Iz2Ho| & 105,000 0 105,000
05 It E = 105,000 0 105,000
OnsAkt SEusS+H =Jt 2EE
105,000,000 * 14 105,000 0 105,000
NS NSt SZINE ALY 262,700 262,700 0
< 100,000 100,000 0
= 162,700 162,700 0
HE0IES 7S LA (HEALY) 162,700 262,700 100,000
< 50,000 100,000 50,000
= 112,700 162,700 A50,000
401 AlZHIZL SO0 100,000 200,000 100,000
< 50,000 100,000 50,000
= 50,000 100,000 50,000
01 Al&HI 100,000 200,000 100,000
OLQE2S7H JHEALS 28 0 0 100,000 100,000
= 0 50,000 250,000
= 0 50,000 A50,000
OIS 7N LA (M EALY) 100,000 0 100,000
= 50,000 0 50,000
= 50,000 0 50,000
401 AlZHIZL S 0HYI 100,000 0 100,000
S 50,000 0 50,000
a 50,000 0 50,000
01 Al&HI 100,000 0 100,000
O ESAH IHEAY
100,000,000& * 14| 100,000 0 100,000
= 50,000 0 50,000
= 50,000 0 50,000
glrgtel 2el 225,795 255,781 A29,986
= 2,365 2,365 0
= 1,327 1,327 0
i 222,103 252,089 N29,986
LY FI 2Ac %.754 126,740 N29,986
ANZERHE X3 (MEAY) 66,840 120,240 A53,400
301 LEtENZ 66,840 120,240 A\53,400
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PA NS
I Ly 242
Bl Qigel HE 2e| EER-E))
A - FH - SHAE) - MRAY - BES Ol &k 24 DI Husz
0 AlRI=SR22ds 66,840 120,240 A53,400
OF=={UNCIEEININESY
&8 750,000 x2001x42 60,000 54,000 6,000
OFA 23 0 0 55,440 A\B5,440
OnSHI(AFRISTIAIE)
ZE 3,400 +202+2001 x4 5,440 5,400 40
OUI=HI(ARISXIAIE)
ZE 350,000 #4021 1,400 2,100 AT00
ootz & P8z g4 0 0 3,300 23,300
ANSIZRHE XIZ(XEHAS) 23,414 0 23,414
301 LEt2 NS 23,414 0 23,414
0 Al =S2E24s 23,414 0 23,414
oss(¢edd) 1,000,000 =201 x4 8,000 0 8,000
ousH|(deray)
3,400 +202 x201 x4 544 0 544
OFA 140,000 #2201 x4 12,320 0 12,320
OLl=H|(£erdd) 350,000 10! 350 0 350
otg & 288 100,000& »22¢! 2,200 0 2,200
sns 54 XA 3,3%,625 3,216,625 180,000
= 11,700 11,700 0
Fas 463,000 463,000 0
= 568,462 568,462 0
[ 2,363,463 2,183,463 180,000
2EAE A2 3,3%,125 3,216,125 180,000
= 11,700 11,700 0
= 463,000 463,000 0
< 558,462 558,462 0
= 2,362,963 2,182,963 180,000
HASSAY 424 333,000 153,000 180,000
307 21201 & 333,000 153,000 180,000
09 S+YHEXS 333,000 153,000 180,000
Os0HEHA HdeaH 23&4H X2
Z3E 25,000,000&* 12942 300,000 120,000 180,000
AL2IOtM S o1t H15 1,404,941 1,404,941 0
SE2RAE & ocTvate 1,404,941 1,404,941 0
CCVSE2HHE 28 2 2el 409,541 409,541 0
405 AtotESH 277,970 277,970 0
01 At =S F SH 277,970 277,970 0
OZYNIEX 7
23 105,000,000 14 105,000 62,000 43,000
ONEZHAE 7L
Zd 31,000,000 *1CH 31,000 70,000 A\39,000
oo0l=saE NE2AY &
& 31,000,000 *1CH 31,000 35,000 24,000
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A ST
BE: WHSAAH(VHDED)
Cel: QIHARAH(HEHNE EEREED)
SA-3Y . SA(ZA) - MIRAY - BES Ofl éxtoH N 3N Hlusz
AHE2HAH(AHEWED) 221,917 217,134 4,783
AR EH| (Ot W E1) 138,525 133,742 4,783
olA2HH| (M WS 138,525 133,742 4,783
101 e124d| 138,525 133,742 4,783
03 BRA(RIIA)22XE S 7,100 2,317 4,783
CESIEC RN
19,9292 *10A1 2H+ 128 +2F 4,783 0 4,783
HR&s(otE nsSnt) 592,409 197,184 395,225
SPSPNE= 395,225 0 395,225
2X3 pret 395,225 0 395,225
802 Bret=J1EL 395,225 0 395,225
01 I DEXZEHE 329,644 0 329,644
20228 SEENS+H 2EXF A =] Bt
= 3%4,970& 3% 0 39
©20228 SELS+H 2EXA A =4l 0]
A+ B 147,830& 148 0 148
020213 XS SeHMSHZINEAIE S8t
o 307,980,280 307,931 0 307,931
©20214 NHDEQHAMNAAIY 220|
AHetet 721,030& 722 0 722
02022 ZAHAZSAIAE ASAIY 24|
Lot Bk ol 343,350& 344 0 344
020223 ZAHATSBAIAE ASAIY =4I
Ol KHEHoH 90,000 ) 0 0
020229 HSE =2=0] AHIlo BZTAE =
Bl OIKteH vt 3,898& 4 0 4
©20228 2JHMHUES SEEH NEMY =
Bl OIKteH Bt 10,0002 10 0 10
02 Al - EHIE=3ttet= 65,581 65,581
020218 XA SHMSAINEAIY EHIBH
41,512,620& 41,513 0 41,513
©20218 XFSotEstFINSALS =IOl At
gret 116,570& 17 0 17
020243 HEl0IE2E 7Y AlgAId &F &
BHet 6,927,002 6,928 0 6,928
020228 Nel0|E5 7Y AZAIL =5 &
Ol X+ere 675, 190& 676 0 676
0202 BABATBAIAL AHAIY b
ZHOH Bt ol 240,550 241 0 241
020223 ZAHAFSZAAE ASAIY &4
Ol KHEHetoH 65,000 65 0 65
020214 Hl=2-d HEX2AIY SHlerg
o 51,000& 51 0 51
0202 HRASSEIIESR THIEHHNH
10,919, 150& * 14! 10,920 0 10,920
020223 HRSEsHIIES SH|0| Ko
39,9703 14! 40 0 40

—-329-




SN HE S
H: HREs(AHwsSH)
thel: BEXIE EEREED)
SA-3Y . SA(ZA) - MIRAY - BES Ofl k24 3 Hnsz
O02d ZXEE It XY CH|Bhto
206,990 2% 14! 207 0 207
0202 E46128 It X SHIOIXHEHe
ol 3,540 % 14! 4 0 4
O02d ZE4HEE S2AIY XI” ZHI0IX
Bhetod 2, 7602 *14! 3 0 3
©20224 HMF XA LHE CCIVEIIMY &
HIOI XieHetod 269,660 14! 270 0 270
002 SHAKSE =5 KXHY BLEAIL
WA BEAY TH|BH oM
150,790 * 141 151 0 151
©20224 SolotKS =& XEHY BEAS
DA BEZAY THIPHoH
47,100%14] 48 0 48
O02E ANE8 HEEY XS THIOIXIEH
o 6,840%14! 7 0 7
O2022 HNSBoI2 NEEAXRAAY TH
ko 1,900,000 1,900 0 1,900
©202E THLFOHM S AIQ SHAALY TH| &Y
Bkt 16,8702 17 0 17
02022 ot NESAXIRAAI TH
Ol K ekt ok 10,4302 11 0 11
O2022E TNHOHMSAIQ SHAALY TH| Of X}
oH B 3,940% 4 0 4
0222 CHM R X2 2AXRAI TH
Thok dht 575,000 575 0 575
O2022 OHMZZ| X2 RAXRAAY ZHI
OIXFoH Bt 83,7402 4 0 4
OA2E 20| 22| QF SR At
CH| RHOH Bhy 1,736,023 1,737 0 1,737
0202d 2=0| otz 22 2HXA A
SHI 01X Bre 80,0002 80 0 80
02021 STZAIE SA=3 A
11,0502 12 0 12
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